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i Infinite conducting sheet
A flat conducting sheet has non-zero thickness. It is found that one surface carries a uniform
charge with density o.
a) Determine the charge density on the other surface.

b) Use Gauss’ Law to determine the electric field at any location beyond the sheet.
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4. Concentric conducting spheres

A solid spherical conductor is situated within a hollow conducting
spherical shell. The sphere carries charge @@ and the shell carries
charge —@.

a) Determine the electric field at all points.

b) Determine the electrostatic potential at all points such that
V =0 at infinity.

¢) Determine the energy stored in the charge arrangement,

d) Determine the potential difference between the spheres. How
does it depend on the charge on either object?
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